Answers Friday 8th May
Maths Year 6 Imperial Measures
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5a. Jaxon used the most fuel.
6a.C

7a.10cm =

;96" = 8ff; 1.25cm = 0.5”

8a. 3 pounds = 48 ounces; 0.25 pounds = 4

ounces; 120 pints = 15 gallons

Expected
5b. Millie’s dog is the heaviest.
6b. B

7b. 40z = 0.25Ib; 3"

=0.25f; 5" = 12.7cm
8b. 36 inches = 3 feet; 40 pins = 5 gallons;
20 pounds = 320 ounces
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Expected

4a. False because 1 pound = 16 ounces,
5016+ 8 = 2 ounces, not 4 ounces.

5. Ivy has converted incorrectly. She has
multiplied the number of feet by 4.2, and
done the same fo the inches. She should
have multiplied the feet by 4 and then
added on the 2 inches. (4 x 12 = 48. 48 + 2
=50).

6a. Wood panel: 120 inches = £120; Felt:
36 inches = £36; Laminate panels: 60
inches = £60. The total cost = £216.

Expected

4b. False because 1inch = 2.5cm, 502
inches = 5em, not

5b. Zac has converted incorrectly. He has
divided the number of pounds by 4, so he
should do the same with ounces. 0.25lb is
the same as 40z (16 = 4 = 4).

6b. Flour: 8 ounces = 80; Sugar: 4 ounces =
40p; Butter: 16 ounces = £1.60. The fotal
cost = £2.80.




